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Try this
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- Support

Think about Pythagoras’s theorem:

 In a right-angled triangle, the sum of the squares of the shorter 
sides is equal to the square of the hypotenuse.



Connect
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Calculate the lengths of the missing sides in each triangle.
Give the answer in surd form if it the answer is an irrational number.. 

7m

8 m

5 m



Independent task
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Calculate the lengths of the missing sides in each triangle.
If the answer is an irrational number, leave it in surd form.

 

6 m

30 cm

50 cm

4 m

20 cm 14 cm

√5 cm √15 cm

√6 cm



Explore
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Tye forms a triangle by joining two right angle triangles.

One has side lengths of 6 cm and 8 cm. What is the third side length?

What could the side lengths of the other triangle be? 

What types of triangle can you make by sticking together two right angle triangles?

 

 

 

 



Share your work with Oak National

If you'd like to, please ask your parent or carer to share your work on Twitter 
tagging @OakNational and #LearnwithOak


